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import numpy as np

t =1[2, 1, 3, 2, 4]

c = 1[4, 5, 3, 6, 5, 2]
nt = len(t)

mt = np.mean(t)

st = np.std(t, ddof=1)
nc = len(c)

mc = np.mean(c)

sc = np.std(c, ddof=1)
g = (mt - mc) / sc

print("g =", g, " eq(l)™)

sd = np.sgrt(((nt - 1) * st**2 + (nc - 1) * sc**2) / (nt + nc -2))
print("sd =", sd, " eq(2)")

g = (mt - mc) / sd

print("g =", g, " eq(3)")




d=( -3/ (4 * (nt +nc) - 9)) *g
print("d =", d, " eq(4)")

g = -1.200213656193272  eq(l)
sd = 1.3347214995951333  eq(2)

g = -1.3236219445049453 eq(3)
d=-1.21016863497595 eq(4)
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import sys
sys.path.append("statlib")
from misc import Cohen_Hedges

Cohen_Hedges(x, y, pooled=True, paired=False, corrected=True, noncentral=False, conflevel=0.95,
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import sys
sys.path.append("statlib™)
from misc import Cohen_Hedges

x = [2, 1, 3, 2, 4]
y = [4, 5, 3, 6, 5, 2]
al = Cohen_Hedges(x, y, pooled=True, corrected=False) # eq(3)

Cohen's d
d estimate: -1.3236 (large)
95 percent confidence interval: [-2.8349, 0.18763]

a2 = Cohen_Hedges(x, y, pooled=False, corrected=False) # eq(l)

Glass's Delta
Delta estimate: -1.2002 (large)
95 percent confidence interval: [-2.6873, 0.28688]

a3 = Cohen_Hedges(x, y, pooled=True, corrected=True) # eq(4)

Hedges' ¢
g estimate: -1.2102 (large)
95 percent confidence interval: [-2.5715, 0.15117]

a4 = Cohen_Hedges(x, y, pooled=False, corrected=True)

Hedges' ¢
g estimate: -1.0973 (large)
95 percent confidence interval: [-2.44, 0.24528]

a5 = Cohen_Hedges(x, y, pooled=True, corrected=False, noncentral=True)

Cohen's d
d estimate: -1.3236 (large)
95 percent confidence interval: [-2.6259, 0.035979]

a6 = Cohen_Hedges(x, y, pooled=False, corrected=False, noncentral=True

Glass's Delta
Delta estimate: -1.2002 (large)
95 percent confidence interval: [-2.3948, 0.1913]

a7 = Cohen_Hedges(x, y, pooled=True, corrected=True, noncentral=True)

Hedges' ¢
g estimate: -1.2102 (large)
95 percent confidence interval: [-2.6259, 0.035979]

a8 = Cohen_Hedges(x, y, pooled=False, corrected=True, noncentral=True)
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Hedges' ¢
g estimate: -1.0973 (large)
95 percent confidence interval: [-2.3948, 0.1913]
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x = [1, 2, 3, 2, 3, 4, 3, 2, 4, 5]
y = [3, 2, 4, 3, 4, 5, 6, 5, 4, 7]
bl = Cohen_Hedges(x, y, paired=True, pooled=True, corrected=False)

Cohen's d
d estimate: -1.0059 (large)
95 percent confidence interval: [-1.6355, -0.37619]

b2 = Cohen_Hedges(x, y, paired=True, pooled=False, corrected=False)

Glass's Delta
Delta estimate: -1.0059 (large)
95 percent confidence interval: [-1.6355, -0.37619]

b3 = Cohen_Hedges(x, y, paired=True, pooled=True, corrected=True)

Hedges' ¢
g estimate: -0.91964 (large)
95 percent confidence interval: [-1.4792, -0.36004]

b4 = Cohen_Hedges(x, y, paired=True, pooled=False, corrected=True)

Hedges' ¢
g estimate: -0.91964 (large)
95 percent confidence interval: [-1.4792, -0.36004]

b5 = Cohen_Hedges(x, y, paired=True, pooled=True, corrected=False,
noncentral=True)

Cohen's d
d estimate: -1.0059 (large)
95 percent confidence interval: [-2.2572, -0.44996]

b6 = Cohen_Hedges(x, y, paired=True, pooled=False, corrected=False,
noncentral=True)

Glass's Delta
Delta estimate: -1.0059 (large)
95 percent confidence interval: [-2.2572, -0.44996]

b7 = Cohen_Hedges(x, y, paired=True, pooled=True, corrected=True,
noncentral=True)




Hedges' ¢
g estimate: -0.91964 (large)
95 percent confidence interval: [-2.2572, -0.44996]

b8 = Cohen_Hedges(x, y, paired=True, pooled=False, corrected=True,
noncentral=True)

Hedges' ¢
g estimate: -0.91964 (large)
95 percent confidence interval: [-2.2572, -0.44996]




